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TSy « TfE - FER B {7 % & A bl iR
bt = 44, 748, 757
ps+ T = 516, 496
Bt = 516,496 |+ A1) 30 m3
4. 0mPL E
%t (B ) 320 m3
4. 0mPL E
Vi L = 198, 757
VAR VARV RN EVZA I VAR PYZ ) = 198, 757 |2/7)-h (Ri%N) 77 ny )7k 3 m2
& % 35cm ;
A - BEARS (W) 0. 87 m3
FARAG RC-40 ;
JE ka2 =} 1.6 m3
18-8-40 (&)
PRI T 2 40, 336, 032
EELT = 219,044 |FRIEY 1 X
+4)
HEL 1 2V
+4)
PR [ AR T = 29, 394, 021 |av/)-} 485 m3
18-5-40 (BFB) —Ma& A& 27 -MEHIHE I
Bekay ) -b 44 m3
36-8-25(20) (FE4) ;
HEA JEAE ¢ 500 [J£1000] 28 m2
(k3 LER)
® 350~ ¢ 650 36-8-25(20) (FE¥F) ;
HRAEREL ¢ 500 1 =
® 350~ ¢ 650 ;
A ¢ 500 1 X
® 350~ ¢ 650 ;
FRATTRE (b - SR ) 1 =
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Vol =
FER N E
TE4 | BRI B ER 1 BRE TAHENS T
TEHEX Sy - THE - R B {7 % & # il pall 2! R

70X 600X 1200 BLAMSI A &L ;

AT (—H%) 1 X
40X 600X 1200 EEFFASLHM & Te ;

A 1 X

277 )-hEIFL 214 fL
(REAF3E6)
¢ 35 HIFLIE Z500mm ;

277 )-hEIFL 180 fL
(& EE)
¢ 25 HIFLZE Z500mm ;

IR =) 214 N
(REAF3E)
SD345 D25 L=1000 ;

IR =) 180 N
(& EE)
SD345 D13 L=1000 ;

B EKALBR [V 2V v TIE] 246 m2
(REAF3E)

B EKALBR [V 2V v TIE] 68 m2
(& EE)

FTHEREAR [V V8 v L] 246 m2
(REAF3E)

FTHEREAR [V V8 v L] 68 m2
(& EE)

e 1 X
BER Yy MLEE

TE[ERE T = 5,178,281 |av))-p 77 m3

18-5-40 (B JFB) —f¥FEAE 2v)) - M EEIHE 4 ;

Bekay ) -b 9 m3
36-8-25(20) (FE4) ;

AT (—H%) 1 X
40X 600X 1200 EEFHFASLEM & Te ;

A 1 X

27 ) - FL 114 fL
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(& EE)
¢ 25 HI|FLIE Z500mm ;

IR =) 114 N
(& EE)
SD345 D13 L=1000 ;

EEAMBRY 9/ Vb L] 43 m2
(& EE)

FTHEREAR [V V8 v L] 43 m2
(& EE)

s 1 X
BER Yy MLEE

fRIEE T = 4,127,953 |2/7)-} 35 m3

18-5-40 (FBFB) —Ma& 4 27 -MERIHIE I |

Tl e 1 X

avy)-hHIFL 58 0
(& EE)
¢ 25 HIFLZE Z500mm ;

IR =) 58 %N
(& EE)
SD345 D13 L=1000 ;

EEAMBRY 9/ /b L] 17 m2
(& EE)

FTHEREAR [V V8 v L] 17 m2
(& EE)

s 1 X
BER Yy MLEE

FKANT = 1,416, 733 |av))-} 28 m3

18-5-40 (FBFB) —Ma& 4 27 -MERAHIIE I |

HEAT JEAE ¢ 1000[JE1000] 25 m2
(K AMTER)
¢ 700~ ¢ 1300 18-5-40 (Z4F) ;

A EREL ¢ 1000 1 =
$ 700~ ¢ 1300 ;

5 A7 3 ¢ 1000 1 =X
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THEL | BRI 5 RN 1 5ORE THES TH

TEHX4y « Tfd - FER B Az £ & F #m il N BN
$ 700~ ¢ 1300 ;
HEYE T = 2,593, 690
s EEE L T Y 1,618,230 |av))-MEEWEE L 190 m3
EAEAETEY) FEMOE T ;
TE LB T =Y 975, 460 | BoE 190 m3
/) -k (BERR)
RISy 190 m3
20—k (SRR
SN AL T =Y 148, 570
S BLERESE T Y 148,570 | EE{E¥EER 10 iEA|
EH -BR
INEV2 VACERER)! 10 FER
[LIF&0. 8m3 ;
A Y 955, 212
T HE R E T 2 333,959 | LB K E 1 F2V
HAHF 1 =
HA)79v%=77 RC-40 FE/E100mn ;
TEHERHET Y 561, 333 | L3+ FH1E K= 1 2V
B EHT = 59,920 | ZZiEAEEE B 4 A H
[ERAE Xy = 44,748, 757
IR = 6,571, 440
HiE R = 2,231, 440
et = 1,717,440 |"EREHRE 72 AR
FEislia 323 2 4

3m2/MERSE (T HPEHH D
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oY ol SN
FEAENGRE
T4 | BRI 15 EF 1 BHRE TAiEs TH
TEHX4y « Tfd - FER B Az W B & HH i il A R
FEisli 323
3m2/ BRI (A ERER)

BGRESGESE (5 L) = 1 514, 000
B (FEEHL) = 1 4, 340, 000
T = 1 51, 320, 197
Bl g 2 1 16, 468, 000
T =5l = 1 102, 669, 373
— R A 2 1 16, 850, 627
TS 2 1 119, 520, 000
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== /oA = =
FER N E e
T4 | BB B3 1 5RE TS T
TEHX4y « Tfd - FER B Az £ & F #m il BN
DI = 21, 232, 010
W+ T = 20, 184, 640
PRHEIT = 786, 650 | bR (BEHIFEIA) 5, 000 m3
FHIA O-27) (WOBR) 1 =
Y A B ERARDA
| T (ICT) = 1, 206, 500 | FxA (FEEIESHA) (ICT) 5, 000 m3
AL T =Y 18,191,490 |#&H 1 =
et AL TONLEER
b E 1 F2V
b G- ERIRY L&)
D EE R (RPBS) 1 F2V
Y W
SN AL T =Y 148, 570
S BLERESE T Y 148,570 | EE{E¥EER 10 iEA|
EH -BR
INEV2 VACERER)! 10 FER
[LIF&0. 8m3 ;
A Y 898, 800
AEEHE T 2 898, 800 | A% EE i B 60 A H
[ERAE Xy = 21, 232, 010
IR = 4,203, 166
BISTI S = 1,743, 166
TE R = 831, 000 | B AR AAR Sy A T i 5 B 1 [=]
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== /oA = =
FEAENGRE e
T4 | BB B3 1 5RE TS T
TEHX4y « Tfd - FER B Az W B & #A i il A R
HeffrE sy = 1 628, 166 | {R5F&HE (ICT) 1 =
VAL E 2 (ICT) 1 F2V
ICTIE RS EH 1 2V
BGRESGESE (5 L) = 1 284, 000
B (FEEHL) = 1 2, 460, 000
T = 1 25, 435, 176
Bl g 2 1 9, 446, 000
T =5l = 1 34, 881, 176




